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What Does The Chevrolet U2000 Code Mean?

Conditions for Setting the DTC. All of the following conditions must be met: Ignition 0 is active. The
serial data transmitted from the BCM to the instrument panel cluster (IPC) is incorrect for 12
seconds.

How Can You Fix The Chevrolet U2000 Code?

Diagnose DTC U2001 BEFORE diagnosing DTC U2000.
With the ignition switch in the ON position, test for voltage transmissions on the SPI data line.
If the DTC is a history DTC, the problem may be intermittent. Perform the above tests while
wigglin

Reference Sources

Chevrolet U2000, DTCDECODE.
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